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Aufgabe 1

Vervollständige die Tabelle.

Z E Zahl als Wort

3 6

vierundfünfzig

vierzehn

6 5

dreiÿig

0 8

4 6

9 5

2 4

zweiundvierzig

Aufgabe 2

Vervollständige die Tabelle.

H Z E Zahl als Wort

5 7 7

5 4 7

0 6 2

6 9 3

6 5 6

sechshundertfünfundfünfzig

neunhundertachtzehn

achthundertfünfundzwanzig

9 2 7

fünfhundertdreiundneunzig
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Aufgabe 3

Vervollständige die Tabelle.

Z E Zahl als Wort

3 7

8 4

4 1

4 4

0 7

8 1

achtundneunzig

1 6

1 3

1 8

Aufgabe 4

Vervollständige die Tabelle.

H Z E Zahl als Wort

4 8 4

siebenhundertsiebenundneunzig

fünfhunderteinundsiebzig

6 5 0

5 8 0

sechshundertein

1 7 4

1 6 4

5 3 0

5 6 4

Viel Erfolg!
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